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F5 piE HHES REFHEER AR L
1 TE4& sekskseokstoksksoksokkk 24 5 X %Rk 94.5
9 T# sokokskokskoketokokkokskokd | 24 E1E F 1R 89.0
3 o= sefkaokokkok kR ] 25 X E1E F R 85.0
4 0 sekskseokstskokskokkokokk () ] 2 Rk 86.5
5 T4~ sekskseokstokskseoksokokk4 72X T 4R 82.5
6 Tk sekskseoksskoksokkokk8 71 1 Rk 80.5
7 F= soksrkkkkkkkkkkxk67 14 ik 88.5
8 T A sokkkkkskkkkkkkh 360 FIR, 85.0
9 EXibe sokskokskokskokskokokokkok 2 7 1 8 E1H 7R 90.0
10 FTEH skrkkkkkkkkkkxk(055 =z 84.5
11 Frz soksrokkkkskkkkkkxk((0] 7 ik 76. 5
19 I soksrokskkokkkkkkdkk()54 | FIR, 92.0
13 B sokskskskskskskskskskskokk ()44 X =z 78.5
14 FE sokrokkkkkkkkkkx6923 ik 89.5
15 FINE sokskokokokskskokokokokkk ] 538 FIR, 81.5
16 FBEAF sokskokokskokskskokokokokk ()01 1 = 84.5
17 F47 H sokskokokskskskkokokkkk (660 = 84.5
18 VB sokskksokskskdokskskokek()() 1 8 = 90.0
19 & Al sokskokskokskokskokkokkok | 625 = 83.0

20 FEU sokskokskokskokskokskokkok 4 () ] 2 RSN 85.5
21 R soksokskdokkkkdok k339 | 4R 89.0
29 A5 sokskokokokskskokokokokkk()71 3 FIR, 92.0
23 H % ¥ sokstokokotokskokokokkok ] 11X 18 4R 86.5
24 B — skkskkkkkkkkkkk5] 21 IR, 81.0
25 =L sofotokskforoskskotokskkok 1 314 = 90.0
26 I AR AR skekskskskskskskskskskskokk 382 3 IR, 88.0
27 g B sokskoksokskskkokskskokk5 235 = 88.0
28 NN sokskokskoksokskokekokkok() ) 3 3 18 %R 94.0
29 i E s sefekskokskskskokokokokskek ()0 19 = 85.0
30 = sokokokokskokskokokokokkk (0948 = 80.0




F5 piE HHES REFHEER AR L
31 2K 7k Fu sokkokkokkokkokdkkEkk 363X L {E 7 88.5
32 K ERE sorskskokskokskkokkokkk [ 51X IR 85.0
33 KA sokkokkokkokkokkkkk( ()] 5 =2 80.0
34 by ] sekskseokstoskokeokskoskokk 2.5 3 () Rk 86.0
35 mER sk 4 1 F IR 84.0
36 Lygg T sk kG749 IR 93.0
37 A sekskseokstokoksoksokokk 30 1 4 Rk 88.0
38 x| K sokskskokkokokdkokkkok k(06 1 8 E1H %R 88.0
39 x| A2 serekokdokdokdokdek() ] 14 FIR, 90.5
40 X 7K & sokskskoksokokdokkokokk | 814 FIR, 74. 5
41 x| & B serekekdekdokdckdkek ] 66 1 =z 89.5
42 pURERY serekokokekdeokdkek5 () 1 0 RSN 83.0
43 X 47 sokkskokkkokdokkkk k3335 FIR, 91.5
44 | it sokskskokRskok Rk kkok k3232 FIR, 86.0
45 EIA#E sokskskokkokokdokRkokok k(08 1 4 RSN 90.5
46 GEE sokskskokkskokdokkkokk 191 8 Z 80.0
47 TE & sokskooksokkkokk 36 1 0 2 80. 5
48 Ay kR R KRR T93 Z= 91.5
49 INIE serdokokdokdokdokdek() ()35 FIR, 89.0
50 oL E sedokkokdokdokdokdkek()254 RSN 88.0
51 INMEF skskokokskokskskokokokokk 3 )0 X = 83.0
52 IR L sokdokokdokdokdokkk2 7 1 5 = 82.5
53 I IE serdokokdokdokdok k8 ()25 = 85.0
54 IS sokoksokdokdokdokkk4 8 1 7 FIR, 87.0
55 TR skkokkokkokkokdkokkk(2 1 X IR, 91.5
56 iR sekdokdokdokdokdokkk | 638 18 %R 84.5
57 e A sekdokdokdokdokdokdkk() 025 18 %R 89.0
58 g — sokokokokskokskokokkokkk ] 838 = 85.0
59 = fF sokskokokdokdokdokkk()2 1 7 E{E 7 R 75.5
60 = sekkokkokdokdokdokk k58 38 = 89.0
61 =R sokkokokdokdok ok Rk 2 202 =z 93.5




F5| #4% HRES REFHEER MRE B
62 X sefokekokRkok kR0 03X Rk 80. 5
63 = k4R sorskskoksokskkokkokkk3 520 IR 89.0
64 2 J& i sererokokekdokdek 7 (05X E1H 7R 91.0
65 ) sokkokkokkokdkFkkEkk()553 =2 93.5
66 e ] soksokkdokkkkdokkk5454 IR 78.5
67 z= B soforoskskotokskkotokskkok ] 21 1 = 79.5
68 ER4p sefsfolokskeesolokkekk 3 634 E1E F R 91.0
69 Z =15 sorskskokskokkkokkokkk224 | =z 78.5
70 =&k sekokokokokdokdek] 730 FIR, 84.0
71 7K & sekkkkkkkkkkk(85 3 R 84.0
72 e sfokskeskoksokokkekokokd 11X E1E F R 83.0
73  # seksksoksokoksokskokokk 7 21 3 T H 4R 87.0
74 R sefokskssioksokokskekokok2 01 4 = 86.0
75 3%, sfoksksksloksokokokkokok(04 1 5 13 81.5
76 VAL sfokskstsioksokokokkokok (00 1 5 13 91.0
77 B e sorskskokskokkkokkokkk ] 120 RSN 88.0
78 B % & sefokskesioksookskeokok 3 7 1 ) = 86. 5
79 ZEW seksksoksokoksokokokk (49 3 = 80.5
80 =2 sefoksksoloksookokeokok 1 61 7 13, 89.0
81 = K45 sefokskesioksookkeokok() 3 1 4 = 87.5
82 1T K SR sefoksksskoksokokkokok | 03X = 95.0
83 TER sefokskesioksotokkeokok2 01 0 13, 86. 5
84 1 & FR sedokokdokdokdokk k6.6 36 E1H %R 82.0
85 EI2% sefsfolokskeeskokokkkk4 520 1R, 86.0
86 VT sefoksksolokokokkkok8 025 13, 84.5
87 o5 soktokoketokotokokdokkk4 6.6 1 = 93.0
88 K sorskokokskokkkokkkkk26 | 4 IR, 81.5
89 Kk & srkkkkkokkokkokkk(0 ] 6 18 %4 93.0
90 e sefoksksolokokokkok (06 1 2 1E 1R 82.0
91 [ sekskofosokkokokokokkk ] 9 5 4 1 3K 80.5
92 Bk Ak sefsfolokskeoskokokkkk 003X = 93.5




F5 piE HHES REFHEER AR A
93 AR sk 0010 R A 92.5
94 AR seksksekstskoksoksokokk 1 037 E1H R 81.0
95 = soksksoksokoksoksokokk | 879 E1H 7R 83.5
96 B J sefokekokokRRokk2 (01 X FIR, 78.0
97 KB sefokokokRdokRAokk5 2 1 6 Z 87.0
98 2 sokkkkskkkkkkkkk301 5 FIR, 86.0
99 B fiE seksksoksokoksokoskokk5 2 39 FIR, 87.5
100 B g skskokskkRdkok kK638 2 83.5
101 B, sokskokskokskokskokskokskok()() 2 X E1H %R 88.5
102 B o B sokskokskRAdkok kK59 25 ik 85.0
103 7K B sforokksforskkoorskkk() 09X FIR, 88.5
104 & sk kRokok | 064 Z 85.0
105 G sfokokok kR [ 15 FIR, 91.0
106 it 5% sokporkoRk kR 305X %34 91.5
107 W H = sokskokskokskokskokkokkok | 035 =z 89.0
108 o3 seksksoksokoksokoskokk 6450 FIR, 88.5
109 %=y sokskokokskokskskkokokk k62 1 2 FIR, 89.0
110 AR seksksorstokoksoksokokk (4 1 0 FIR, 89.0
111 M sokokok kG [ 15 RSN 86.0
112 A8 sokokokRRkkRkk 34 1 5 RSN 87.5
113 JE| T 40 seksksorsokoksokokokk 5026 = 86.0
114 Bl %k sokokokdok Rk () ()74 RSN 82.5
115 2 %2 seksksoksokoksoksokoksk | 650 FIR, 86.0
116 M EE seksksorsoksksoksokokk 3 3 1 X RSN 77.5
117 % seksksorsokokokkskok k(0 26 18 %R 78.5
118 B R sokstookstokoskokokokokok 3 ) ] 4 3% 82.5
119 HH sokskokokkRRsokokkk %04 10 1 iR 92.0
120 A 45 1% sk kKR (06 1 5 18 %4 91.5
121 g % sekkokokRdk Rk k4 630 IR, 96. 5
122 HLE sokskokskoksokskokkokkk2 () | 5 = 90.5
123 | e+ R soplotlotoioiokokk | 214 1 AR 88.5




F5 piE HHES REFHEER AR A
124 S sokkokkokkokdkFkHk kS ()32 L {E 7 85.5
125 =T sokkokkokkkFkF kKOS DS IR 81.5
126 = HE sk 82X IR 79.0
127 E sefokokokRkokRRokk2 [ 1X = 78.5
128 EiE sookokokookokskokokokok3 7 1 5 RE 94.5
129 R & sokkokkokkokkokkkkk(06 ] 4 IR 84.5
130 toe T sokskokskokskokskokskokkok() () 1 7 L {E 7 83.5
131 R kRl kokkkok k(0850 SR AR 80. 5
132 HBA sokskskokRskokFok KRk k68 1 7 E1H %R 80.5
133 i skokskokskokskokskokokokkokS 2 | 2 ik 92.0
134 iy seroksokokokdordek() () 1 3 RSN 88.5
135 =t sekoksokokdokdokdkk24 | 8 FIR, 88.0
136 =iFiE sokkskokkokokdok k(0026 RSN 80.0
137 8 sokkskokkokokdok kR k48 1 6 E1H 7R 89.0
138 R ) sokokskokkkokdokk k4866 T H 4R 86.0
139 V¥ XA setoookskolokokokokkk4 9 1 4 SR RN 82.0
140 R HE sokdokokdokdokdok k26 1 3 = 86.0
141 & sokskskokRskokdokRkok kT 71 8 FIR, 90.0
142 A sokskskokkoskokdokRkok kT (034 FIR, 86.5
143 1A sorskskokskokskkokskokokk ] 11X FIR, 80.5
144 M sokskskokdokkkok Rk k5 02X FIR, 88.0
145 = A sokkskokkokokdokdkk k5834 FIR, 85.0
146 =4 sokskskokkkokdok k05 5 E1H %R 77.0
147 - sokdokokdokdokdok kS8 27 = 78.5
148 AN sokskskokkskokdokkkok k451 7 IR, 83.5
149 B K& soksskokkokokdokdkk k2059 IR, 84.0
150 EF sokskskokkokokdokdkkk53 19 18 %R 85.0
151 BEE sokskskokkkokdokkkok k(3 ] 3 IR, 92.5
152 Z 4| serkekkokdokkokdokdkek( 050 =z 83.5
153 ¥ IEE sokskskokkskokdokkkokk5 192 IR, 83.5
154 b7 soksksoksokoksokkkokk5 5 52 13, 87.0




F5 piE HHES REFHIEER AR A
155 ur soxkkRskkkk kR %053 | 38 80.5
156 Wt sxkRRRRkkkkk k(6 | 8 38 86.0
157 A sfokokokRokkRkok 4635 18 4 R 81.5
158 A+ sokRsRskkkkk kR K5 334 =1 4 iR 81.0
159 B sxkksskskokkokokkk | 338 2 92.0
160 & sk Rk (08 1 6 18 4 R 92.5
161 BEE sefokokokRok Rk | 389 18 4R 88.5
162 B fE skokokokRok Rk T 02 | ik 89. 5




